TOTAL REFUSE GENERATION

X 1.56 =
no. of ormployoos (0)  ovy. b3, ofrefuse per b5, of refuse
employ oo per day por day (b)
|
X 240 + 12 + 2000 =
Ibs. efrgfusa warking danys moanihs b, por bon 1o0S par
perday {b) par year manth

RECYCLABLE PAPER GENERATION

— x 067 =
[no. of employees (8)  avg. lbs. of high-grado paper® B3, of recyclabla
por employoa por day paper perday (<)
A 1.15 =
rio. of employees (a) avg. lbs. of high-grade and s, of recyclabla
low-grade paper™ paper par day (c)
per employes per day
I
X 240 + 12 + 2000 =
ibs. of recyclable working days iusnihs Ibg. por ton tens of recyclabla
paper perday {c) por yoar paper g maonth (d)

POTENTIAL PAPER RECOVERY RATES

X 0.65 =
fons of recycobie 5% of employea tons of recyclabls paper
papeir par rrranth {d) participation rocavEned par iadnth (o)

[consanatnng rmis)



